Math 1

- Worksheet 11.0 .

Solve each system by graphing.
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Write the slope-intercept form of the equation of the linc through the given point with the given

lope. -
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10) through: (0, —5), slope =0

- _ Date Period
2 Bt
2) y=——x+2 e :
3 3) y=—x—-4
8
y=——x—4 1
3 y=—x+1
4
2y
5 oy
| - l %_,
-4 ‘ ¥ :
5o B 2 Al
y:-—‘s—x—-Z
y=-x+1 14
y=-6x—4 gt o
5) 6 Y=y
Ay
L
X k| A >
-1- 5 4 A p ol x
B 2
8) y=——x+3 i
) ¥y 3 %
4 i
=—x=3
y 3 J
. Ay
s 4 3 C:
x



, _ . o , . s A Ya "'
. : N t forget -z -
Write the slope-intercept form of the equation of the line through the given points. D o t/ Vﬁ
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11) through: (-2, 5) and (—4 5) ’ o 12) through: (-5, 4) and (2, —I)

13) through: (0, —5) and (-1, 3) 14) through: (3, —2) and (1,-s)

Write the slope-intercept form of the equation of the line described.
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15) through: (-2, —3), parallel to y = fj—x +4 16) through: (2’ _1): perp. to J’:;x +4

Graph the image of the figure using the transformation given.

lq ) translation: 1 unit right and 5 units down ‘ B ) reflection across the y-axis
Ay \y

; l\ B 1l

'] ~ 'g s

: ! ’ P \\

| j 1 e - -

} I i i

- - i >
‘i
y 3

A ) reflection across the x-axis o 20 ) rotation 180° about the origin
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